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TpAs
[ J TpAs-101 600 600 - 600 - 300 30~20k +0.25 5 dBm 60 at 1kHz 1
(4-4 terminal)
® TpC-101 600 600 - 600 - 300 30~20k +0.25 13dBm 60 at 1kHz TpC 1
[ J TN-12 600 600 - 600 - 300 30~20k +1.0 20 dBm 60 at 8kHz EO 1
o R{XF:E® 58 e« Minimum ordering quantity: 5pcs
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Operation and polarity of Hybrid coils )
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h cols f L tanstormer | In this case, the balancing network should completely be matched.
c d Utilizing this feature, it can be used for the interphone, discussing,
Il broadcasting circuit etc..
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Balancing Network:

Generally the impedance of the telephone circuits are complicated, having
a frequency characteristic, therefore, the balancing networks are often used
with the frequency characteristics.

However, a pure resistance is used for the characteristic test of the hybrid
coils.
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Terminal numbers are specified in the below table Ro=/ % RIRDBALR LY DEM R (Q)
No. a|bjc|dje|f]|qg _gm Line inductance per unit length L (H)
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o 1123 |4|5|6|7 o—T R Line capacitance per unit length  C (F)
Line resistance per unit length R (Q)




